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Part I (internal structures): Due 27 November 2018

Part II (external structures): Due 6 December 2018

Comparison of time performance of the join operation  R ⨝ S     

Each table has three attributes:

The first attribute is an int, not unique.

The second attribute is a 1K char string, not unique.

The third attribute is a unique 64-bit (long) int, is unique. You may desire to use this attribute for debugging purposes.

The join is an equi-join on the first attribute of both tables.

Table R is stored as a 1D unsorted array.

Table S is stored as


-  an unsorted 1D table

-  a 1D hash table with collision resolution done via an overflow table. The overflow table is 1D unsorted array.

The program will test the proposal that to join two 1D unsorted arrays takes O(n2), while joining one 1D unsorted array with a hash table takes O(n).

Constraints:

 - Good scientific/engineering experimentation standards

 - Sufficient results to lead to convincing conclusions

 - Header, including your name, ‘hw1115’, and URL of source code

Grade based on:

 - Correctness of code

 - Conclusive results

 - Good graphs and summaries

 - Good coding style

Turn in:

 - Hard copy of code

 - One sample run

 - Table of results

 - Graph of results

 - 1 paragraph summary of results with conclusion.

